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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð 
>na Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book.  
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 ZmoQ>  NOTE 

(I) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV 
n¥ð> 11 h¢ & 

(I) Please check that this question 

paper contains 11 printed pages. 

(II) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS 
>Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _|  
>39 àíZ h¢ & 

(III) Please check that this question 

paper contains 39 questions. 

(IV) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go 
nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 
Adí` {bI| & 

(IV) Please write down the Serial 

Number of the question in the 

answer-book before attempting it. 

(V) Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m 
g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 
nydm©• _| 10.15 ~Oo {H$`m OmEJm &   
10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db 
àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ 
do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the 

question paper only and will not 

write any answer on the  

answer-book during this period. 
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{ZYm©[aV g_` : 2 KÊQ>o   A{YH$V_ A§H$ : 50 

Time allowed : 2 hours Maximum Marks : 50  
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gm_mÝ` {ZX}e : 

{ZåZ{b{IV {ZX}em| H$mo ~hþV gmdYmZr go n{‹T>E Am¡a CZH$m g™Vr go nmbZ H$s{OE :  

(a) Bg àíZ-nÌ _| Xmo IÊS> h¢ — IÊS> H$ … amoOJma H$m¡eb Am¡a IÊS> I … {df` H$m¡eb & 

(b) IÊS> H$ … amoOJma H$m¡eb (10 A§H$) 

(i)  {XE JE 6 àíZm| _| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 1 A§H$ H$m h¡ & 
(ii)  {XE JE 5 àíZm| _| go {H$Ýht 3 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 2 A§H$ H$m h¡ & 

(c) IÊS> I … {df` H$m¡eb (40 A§H$) 

(i)  {XE JE 12 àíZm| _| go {H$Ýht 10 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 1 A§H$ H$m h¡ & 
(ii)  {XE JE 6 àíZm| _| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 2 A§H$ H$m h¡ & 
(iii)  {XE JE 6 àíZm| _| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 3 A§H$ H$m h¡ & 
(iv)  {XE JE 4 àíZm| _| go {H$Ýht 2 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 5 A§H$ H$m h¡ & 

(d) Bg àíZ-nÌ _| 39 àíZ em{_b h¢ {OZ_| go 27 àíZm| Ho$ CÎma XoZo h¢ & 

(e) g^r àíZm| Ho$ {deof ^mJ/IÊS> H$mo ghr H«$_ _| H$s{OE & 

(f) A{YH$V_ g_` 2 K§Q>o h¡ &     

IÊS> H$    

(amoOJma H$m¡eb)  10 A§H$ 

{XE JE 6 àíZm| _| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 1 A§H$ H$m h¡ & 14=4 

1. amoOJma H$m¡eb _| AÀN>o g§Mma H$m¡eb Amdí`H$ h¢ 1 

(A) dmhZ-MmbZ Ho$ {bE 

(B) H$m`©ñWmZ _| g\$bVm Ho$ {bE 

(C) gwZZo Ho$ {bE 

(D) {bIZo Ho$ {bE 

2. H$m`©ñWmZ na H$_©Mmar Ho$ ñd-à~§YZ H$m¡eb (goë\$-_¡ZoO_oÝQ> pñH$b) ___________ àmßV 
H$aZo Ho$ {bE ~hþV _hÎdnyU© h¢ & 1 

(A) dmhZ-MmbZ H$m¡eb 

(B) aIaImd H$m¡eb 

(C) AmË_{dídmg 

(D) emar[aH$ VmµH$V 
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General Instructions :  

Read the following instructions very carefully and strictly follow them : 

(a) This question paper consists of two sections viz. Section A : Employability 
Skills and Section B : Subject Skills.  

(b) Section A : Employability Skills (10 Marks)  

 (i) Answer any 4 questions out of the given 6 questions of 1 mark each. 

 (ii) Answer any 3 questions out of the given 5 questions of 2 marks each. 

(c) Section B : Subject Skills (40 Marks)  

 (i) Answer any 10 questions out of the given 12 questions of 1 mark each. 

 (ii) Answer any 4 questions out of the given 6 questions of 2 marks each. 

 (iii) Answer any 4 questions out of the given 6 questions of 3 marks each. 

 (iv) Answer any 2 questions out of the given 4 questions of 5 marks each. 

(d) This question paper contains 39 questions out of which 27 questions are to be 
answered. 

(e) All questions of a particular part/section must be attempted in the correct 
order. 

(f) The maximum time allowed is 2 hours.  

SECTION A  

(Employability Skills)  10 Marks 

Answer any 4 questions out of the given 6 questions of 1 mark each.    14=4 

1. Good communication skills are essential in employability skills 1 

(A) For driving vehicle 

(B) For workplace success 

(C) For listening 

(D) For writing 

2. The self-management skills of an employee are very important at the 

workplace to acquire 1 

(A) Driving skill 

(B) Maintenance skill 

(C) Self-confidence 

(D) Physical strength 
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3. ñd-à~ÝYZ H$m¡eb _| ____________ H$mo ~‹T>mZo Ho$ {bE nm¡{ï>H$ ^moOZ Am¡a emar[aH$ 
J{V{d{Y`m± AË`{YH$ _hÎdnyU© h¢ & 1 

(A) {X_mJ d eara H$s VmµH$V 

(B) dµOZ 

(C) ~mobZo H$s j_Vm 

(D) dmhZ-MmbZ H$m¡eb 

4. H$åß`yQ>a Ho$ ñH«$sZ na ZrMo H$s Va\$ EH$ bå~r hm°[aµOmoÝQ>b ~ma H$mo _________ H$hVo h¢ & 1 

(A) Qy>b~ma 

(B) Q>mñH$~ma 

(C) S>m°Š`y_oÝQ>> 

(D) dm°bnona 

5. ì`dgm`r bmoJ ___________ H$s ewéAmV H$aHo$ joÌr` {dH$mg àXmZ H$aVo h¢ & 1 

(A) bKw ~MV 

(B) ny±Or {Z_m©U 

(C) ñ_mb ñHo$b BÝS>ñQ´>rµO 

(D) {dÎmr` {~OZog 

6. BZ_| go J«rZ BH$moZm°_r H$m EH$ _w»` joÌ h¡  1 

(A) IZZ  

(B) {Z_m©U 

(C) hmBdo {Z_m©U 

(D) Ob à~§YZ (dmQ>a _¡ZoO_oÝQ>)  

{XE JE 5 àíZm| _| go {H$Ýht 3 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 2 A§H$ H$m h¡ & 23=6 

7. _m¡{IH$ g§dmX go Amn Š`m g_PVo h¢ ? 2 

8. ñd-à~ÝYZ H$m¡eb Ho$ H$moB© Xmo H$m¡eb/`w{º$`m± {b{IE & 2 

9. H$åß`yQ>a Ho$ BÝQ>aEopŠQ>d (Or.`y.AmB©.-AmYm[aV) Am°naoqQ>J {gñQ>_ go Amn Š`m g_PVo h¢ ? 2 

10. J«rZ BH$moZm°_r H$m CÔoí` Š`m h¡ ? 2 

11. CÚ{_Vm {dH$mg H$m _w»` CÔoí` Š`m h¡ ? 2 
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3. Healthy eating and physical activities are extremely important in  

self-management skills to increase your 1 

(A) Mind and body power 

(B) Weight 

(C) Speaking power 

(D) Driving skill 

4. A long horizontal bar present at the bottom of the screen of the computer 

is 1 

(A) Toolbar 

(B) Taskbar 

(C) Document 

(D) Wallpaper 

5. Entrepreneurs provide for the regional development by starting 1 

(A) Small savings 

(B) Capital formation 

(C) Small scale industries 

(D) Financial businesses 

6. One of the main sectors of Green Economy is 1 

(A) Mining 

(B) Construction 

(C) Highway construction 

(D) Water management 

Answer any 3 questions out of the given 5 questions of 2 marks each.    23=6 

7. What do you understand by verbal communication ? 2 

8. Write any two self-management skills/tips. 2 

9. What do you understand by Interactive (GUI-based) Operating System of 

a computer ? 2 

10. What is the objective of Green Economy ? 2 

11. What is the main aim of Entrepreneurship Development ? 2 
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IÊS> I$  
({df` H$m¡eb)  40 A§H$ 

{XE JE 12 àíZm| _| go {H$Ýht 10 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 1 A§H$ H$m h¡ & 110=10 

12. H$ÝdoÝeZb Q>mBn M¡{gg \«o$_ H$s VwbZm _| \«o$_a{hV `m BÝQ>rJ«b M¡{gg \«o$_ H$m EH$ \$m`Xm 
`h h¡ {H$ 1 

(A) H$s_V µÁ`mXm h¡ 
(B) Jm‹S>r H$m S>oS> doQ> H$_ h¡ 
(C) H$_ J{V h¡ 
(D) dmhZ H$m JwéËd-Ho$ÝÐ µÁ`mXm D±$Mm h¡ 

13. ñQ>~ EŠgb _________ Am¡a \«$ÝQ> (S>oS>) EŠgb Ho$ ~rM EH$ BÝQ>a_r{S>`ar N>moQ>r emâQ>  
h¡ & 1 

14. ~m°Šg ñn¡Za H$m à`moJ ___________ Ho$ ZQ²>g Q>mBQ> H$aZo Ho$ {bE hmoVm h¡ & 1 

(A) {g{bÊS>a h¡S> 
(B) âbmBìhrb 

(C) amoS> pñà¨J 

(D) S´>åg Am°\$ ìhrëg 

15. dmhZ H$s g{d©qgJ _| à`moJ hmoZo dmbo gm_mÝ` CnH$aUm| H$mo _________ CnH$aU H$hVo h¢ & 1 

16. dmhZ H$s _¡ZwAb g\$mB© _| Q>m`a H$s gmBS> dm°b H$mo _________ go gm\$ {H$`m OmVm h¡ & 1 

(A) Jrbm H$n‹S>m 
(B) ßbmpñQ>H$ ~«e 

(C) _oQ>b ~«e 

(D) gyIm H$n‹S>m 

17. `{X AmnHo$ dmhZ Ho$ Ûmam ____________ H$s Xÿar V` H$a br JB© h¡, Vmo CgHo$ B§OZ H$m 
nyam bw~«rHo$qQ>J Am°`b ~XbZm C{MV h¡ & 1 

(A) 15000 {H$_r go D$na 
(B) 4000 {H$_r go 15000 {H$_r Ho$ ~rM 

(C) 10000 {H$_r go H$_ 

(D) 16000 {H$_r go D$na 

18. B§OZ H$m E`a {\$ëQ>a ____________ bJm hmoVm h¡ & 1 
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SECTION B   

(Subject Skills)  40 Marks 

Answer any 10 questions out of the given 12 questions of 1 mark each.             110=10  

12. One of the advantages of frameless or integral chassis frame over 

conventional type chassis frame is 1 

(A) Cost is higher 

(B) Dead weight of vehicle is less 

(C) Lower speed 

(D) Centre of gravity of the vehicle is higher 

13. A stub axle is an intermediary small shaft between the ___________ and 

the front (dead) axle. 1 

14. Box spanners are used to tighten nuts on 1 

(A) Cylinder head 

(B) Flywheel 

(C) Road springs 

(D) Drums of wheels 

15. Common tools used in servicing of a vehicle are called ___________ tools. 1 

16. In the manual cleaning of a vehicle, the tyre side walls are cleaned with a 1 

(A) Wet cloth 

(B) Plastic brush 

(C) Metal brush 

(D) Dry cloth 

17. For changing of lubricating oil of an engine, it is advisable to perform a 

complete oil change if your mileage is 1 

(A) above 15000 kms 

(B) between 4000 kms and 15000 kms 

(C) below 10000 kms 

(D) above 16000 kms 

18. Air filter of an engine is located _____________ . 1 
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19. BZ_| go EH$ J«mhH$ godm H$m g~go _hÎdnyU© nhby h¡  1 

(A) \$sb-JwS> \¡$ŠQ>a 

(B) aIaImd 

(C) à{ejU 

(D) _aå_V 

20. Am°Q>mo_mo~mBb {dH«o$Vm go `h Anojm H$s OmVr h¡ {H$ dh gw{ZpíMV H$ao {H$ goëg _¡ZoOa go 
àË`oH$ _________ H$mo {_bZo H$m Adga àXmZ hmo & 1 

(A) dmhZ MmbH$ 

(B) VH$Zr{e`Z 

(C) J«mhH$ 

(D) dH©$em°n _¡ZoOa 

21. _moQ>a dmhZ Ho$ ZE _m°S>b H$mo _m{H©$Q> _| bmZo _| Am_Vm¡a na ____________ H$m g_` 
bJVm h¡ & 1 

(A) 1 go 2 _hrZo 

(B) 9 go 12 df© 

(C) 5 go 7 df© 

(D) 10 go 15 df© 

22. _moQ>a dmhZ H$m g{d©g _¡ZwAb h_| BgHo$ ____________ Ho$ ~mao _| gyMZm XoVm h¡ & 1 

(A) J{V gr_m 

(B) _aå_V H$aZo H$m VarH$m 

(C) dhZ j_Vm 

(D) H$m`©H$mar OrdZ 

23. _moQ>a dmhZ H$m g{d©g _¡ZwAb ___________ Ho$ Ûmam V¡`ma {H$`m OmVm h¡ & 1 

(A) amoS> Q´>m°ÝgnmoQ>© AWm°[aQ>r 

(B) dH©$em°n Q>oŠZr{e`Z 

(C) dmhZ {Z_m©Vm 

(D) dmhZ MmbH$/dmhZ _m{bH$ 
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19. One of the most important aspects of customer service is 1 

(A) Feel-good factor 

(B) Maintenance 

(C) Training 

(D) Repairing 

20. The automobile salesman is expected to ensure that the Sales Manager 

has an opportunity to meet each 1 

(A) Driver 

(B) Technician 

(C) Customer 

(D) Workshop Manager 

21. Bringing a new model of automobile vehicle in the market, typically 

requires 1 

(A) 1 to 2 months 

(B) 9 to 12 years 

(C) 5 to 7 years 

(D) 10 to 15 years 

22. The service manual of a vehicle gives us information about its 1 

(A) Speed limit 

(B) Repair procedure 

(C) Carrying capacity 

(D) Working life 

23. The service manual of a vehicle is prepared by 1 

(A) Road Transport Authority 

(B) Workshop technician 

(C) Vehicle’s manufacturer 

(D) Driver/Owner of the vehicle 
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{XE JE 6 àíZm| _| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 2 A§H$ H$m h¡ &  24=8 

24. go_r-\$m°adS>© M¡{gg go Amn Š`m g_PVo h¢ ? 2 

25. ‘ñQ>rb ê$ba’ go Amn Š`m g_PVo h¢ ? 2 

26. B§OZ H$m Hy$b¡ÝQ> ~XbZo Ho$ {bE Amdí`H$ gm_J«r Ed§ CnH$aUm| Ho$ Zm_ {b{IE & 2 

27. ‘J«mhH$ ghm`Vm’ go Amn Š`m g_PVo h¢ ? 2 

28. ‘hmB{~«S> S´>mBd Q´>oZ’ (Hybrid Drive Train) go Amn Š`m g_PVo h¢ ? 2 

29. ‘Am°naoqQ>J _¡ZwAb’ go Amn Š`m g_PVo h¢ ? 2 

{XE JE 6 àíZm| _| go {H$Ýht 4 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 3 A§H$ H$m h¡ & 34=12 

30. {bŠdrS> Hy$qbJ (Liquid cooling) go Amn Š`m g_PVo h¢ ? 3 

31. ‘ìhrb ~¡boÝga’ go Amn Š`m g_PVo h¢ ? 3 

32. Jm‹S>r _| ‘Hy$b¡ÝQ>’ H$m Š`m CÔoí` h¡ ? 3 

33. H$ñQ>_a goëg H¡$`a Ho$ AÝVJ©V ‘Zmo `wAa àmoS>ŠQ>’ Ho$ ~mao _| {b{IE & 3 

34. gwajm VH$ZrH$s Ho$ AÝVJ©V H$ma _| bJo ‘Q>m`a à¡ea _m°{ZQ>[a¨J {gñQ>_’ Ho$ bm^ {b{IE & 3 

35. Q>oŠZr{e`Z H$mo ‘g{d©g _¡ZwAb>’ go {_bZo dmbr gyMZm Ho$ H$moB© VrZ {~ÝXþ {b{IE & 3 

{XE JE 4 àíZm| _| go {H$Ýht 2 àíZm| Ho$ CÎma Xr{OE & àË`oH$ àíZ 5 A§H$ H$m h¡ & 52=10 

36. EH$ gm\$ {MÌ H$s ghm`Vm go {\«$ŠeZ ŠbM Ho$ {gÕmÝV H$m {ddaU Xr{OE & 5 

37. EH$ Am°Q>mo dH©$em°n Ho$ {bE Amdí`H$ {d{^Þ _hÎdnyU© hmW Ho$ CnH$aUm| H$s gyMr ~ZmBE & 5 

38. B§OZ Ho$ â`yb {\$ëQ>a ~XbZo H$s à{H«$`m Ho$ MaUm| H$s gyMr ~ZmBE & 5 

39. Am°Q>mo_mo~mBb goëgng©Z go Ano{jV H$s OmZo dmbr H$moB© nm±M S>çyQ>r {b{IE & 5 
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Answer any 4 questions out of the given 6 questions of 2 marks each.    24=8 

24. What do you understand by semi-forward chassis ? 2 

25. What do you understand by ‘Steel Ruler’ ? 2 

26. Name the material and tools required for the changing of coolant of an 

engine. 2 

27. What do you understand by ‘customer support’ ? 2 

28. What do you understand by ‘Hybrid Drive Train’ ? 2 

29. What do you understand by ‘Operating Manual’ ? 2 

Answer any 4 questions out of the given 6 questions of 3 marks each. 34=12 

30. What do you understand by liquid cooling ? 3 

31. What do you understand by ‘Wheel Balancer’ ? 3 

32. What is the purpose of ‘Coolant’ in vehicles ? 3 

33. Write about ‘Know Your Product’ in customer sales care. 3 

34. Write the advantages of ‘Tyre Pressure Monitoring System’ safety 

technology in the car. 3 

35. Write any three points of information a technician gets from the ‘Service 

Manual’. 3 

Answer any 2 questions out of the given 4 questions of 5 marks each. 52=10 

36. With the help of a neat figure, explain the principle of friction clutch. 5 

37. Enlist the various important hand tools required for an auto workshop. 5 

38. Enlist the steps for changing of fuel filter of an engine. 5 

39. Write any five duties expected to be performed by an automobile  

salesperson. 5 

 

 


